Determine if each of the following converges or diverges.
If it converges, write “CONVERGES”. If it diverges, write “DIVERGES”,
Justify each answer using proper mathematical reasoning, algebra and/or calculus.
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So, diverges by Ratio Test
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Z WY = Z diverges (|r| + > 1) by Geometric Set ies Test, so dlverges by Comparison Test
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ALTERNATE SOLUTION — GRADE AGAINST ONLY ONE SOLUTION
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SO, Z 3k dlverges by Divergence Test
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Determine if each of the following converges or diverges.
If it converges, write “CONVERGES”. If it diverges, write “DIVERGES?”,
Justify each answer using proper mathematical reasoning, algebra and/or calculus,
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— converges (p = 2 > 1) by p-Series Test, so Z 5| converges by Comparison Test
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Z B converges by Absolute Convergence Test
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So, Z;—Zk converges by Integral Test and Z converges by Comparison Test
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So, Z(l - %)k converges by Root Test

k=1 oy
l..—-——'—'_‘-—'_i




